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Combined Graduate Level Examination 2020 Tier-l

Roll Number |
Candidate Name
Venue Name 'Yagyavalkya Institute of Technology

Exam Date 20/08/2021

Exam Time 9:00 AM - 10:00 AM

Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 g5 fawey g4 S A1t wen & I veR W 7, O TR get wen | v gen
IR Bt HEn | uiad! sen w71
11:81::?:121::8:36
Ans X 1.10
X 2.18
& 3.13
X 4.12

Question ID : 81616113325
Status : Answered
Chosen Option : 3

Q2 fmav et § F 97 I 9 o HEiEe g@er F vt (7) F T WA

Ans

Question ID : 81616112422
Status : Answered
Chosen Option : 1
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Q.3 1 IR Fen-gw Ry e § Red & fF et el A te wwm § ok 399 @ w eria
B I SRATT TSI HT TG B |
Ans X 1.(812, 121)
X 2. (723, 144)
X 3. (546, 225)
o 4. (547, 258)

Question ID : 81616112316
Status : Answered
Chosen Option : 4

Q4 g e ool ® & a8 qul-ayg g4 o FafifEa e d vyig (7) & M w smem?
MCN, NCO, OCP, PCQ, ?
Ans X 1.PQR
X 2.0cQ
X 3.PCS
 4.QCR

Question ID : 81616113414
Status : Answered
Chosen Option : 4
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Q.5 maﬁ}@ﬁﬁmtwgﬁaﬁmﬁmmiﬁ?m@?mﬁmmmam
T §1 FH FES & G W AT AT @

e T

-.,.: -l .,.:

' B :

a" D 2 o"

Ans
on
oo
X 1

AA
vV

<
o 4P Do
a <> 0On

O, A0
Vv
ono
F. A
x4 dp o
vV

Question ID : 81616113437

Status : Answered

Chosen Option : 3

Q.6 T & T F & s Pufant gt v ¥ e v W e F, G, H, |, J 3k K aifea o
T §| 97 W I S AN F AW Tew & eid wew WA

Question ID : 81616112323

Status : Answered

Chosen Option : 1
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Q7 %gﬁmgﬁwh%ﬁﬂ%mﬁmﬂm%ﬁfﬁa%ﬁmmmwmwﬁm
!

ARTURIY : T : AYRT: 2
Ans X 1. e

X 2.7

X 3. Temad

o 4.9

Question ID : 81616112408
Status : Answered
Chosen Option : 4

Q.8 Tfrdty g @1 98 Odl TaeH g R wfae 0 3 + gl & =M R @A & afiero

wgfera gt s

45*24*72*20*12*7
Ans X 1.+ + — = x

K2 %+ — =

& 3% 5= - +

K= x5 -

Question ID : 81616112319
Status : Not Answered
Chosen Option : --

Q.9 &Rl F I HAISH FT U B ol &I TS e & o R A e FUF @ a0 R
siger o1 guf Hem|

JL_N_J_PND_NP_DJ_P_D

Ans 7 1.P.D,M J N, O N
X 2.P.M,D,N,J,O, N
X 3.M,D,P,N,J,N, 0
X 4.M,D,N,PN,J 0

Question ID : 81616113422
Status : Answered
Chosen Option : 1
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0 &k st 4 fe Pt 0

Ans i g
X210
X3 7
x4 9

Question ID : 81616112322
Status : Answered
Chosen Option : 1

AN o7 fwrew amgfa o St & o6 gy & wowla ¥ (gR # gaEEr A8 D)

Ans

X
v

Pt
=T
A EE

X
ﬂ's_l

Question ID : 81616113435
Status : Answered
Chosen Option : 1
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Q.12 Select the set of classes, the relationship among which is best illustrated by the following Venn diagram.

&

Ans X 1. Stationery, Stapler, Erasers
« 2. Extroverts, Men, Handsome
« 3. Doctors, Fathers, Sisters

X 4. Bureaucrats, Men, Women

Question ID : 81616113337
Status : Answered
Chosen Option : 2

Q.13 fopeft fafkiy Feurar & 'RAS &Y 87’ & ©U H 3R ‘GITA’ Bt 148’ F & § Rorar sirar 81 &t
I YT F ‘VARUN’ Y H foram g2
Ans X 1.403

X 2.234

X 3.176
o 4.380

Question ID : 81616112310
Status : Answered
Chosen Option : 4

Q.14 g5 faeey g Rred et e g & I e @ Wefta § 99 R R mu de 9t send
TP gae § afta g1
(12, 121, 169)
Ans X 1.(14,196, 225)
X 2.(11, 144, 196)
o 3. (17, 256, 324)
X 4.(16, 161, 256)

Question ID : 81616112318
Status : Answered
Chosen Option : 3

Q.15 ) 9R qui-gyg Ry me § R @ @i faelt def # e qume § ok 378 | we erTa
B I 3R qoi-agg F1 7gq HY |
Ans 7 1.QL
X 2.KP
& 3. MN

X 4.GT

Question ID : 81616112406
Status : Answered
Chosen Option : 1
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Q.16 ?qmﬂﬁmmmjmamﬁsﬁvagﬁwgﬁﬁhum(?)%mwsﬂm
?

12 34 110
61335
97?60

Ans X 1.19
X 2.23
% 3.18
& 4. 21

Question ID : 81616113327
Status : Not Answered
Chosen Option : --

Q.17 3ifda, T R A= A A1 et 3t fafira al @ e sma12:9: 7 F squra
TR, 3R SAST Y 15 : 9 : 8 & 3UTd & 31 af 3ifdpra ufaey & = F forg st 25%
3T B eI BT 8, df 3Hfpd, Torg 3N A B g BT T T 82

Ans 7 1.15:18: 11
X 2.25:16:13
£ 3.23:18: 11
K 4.5:8:7

Question ID : 81616113431
Status : Not Answered
Chosen Option : --

Q15 < cor 1 e g < 8 e e <o e e A
Apeongn]

m.jMpQ(Ii)QqA
s 1M pdCodqL
xs 7hopeDdyre

x. 7hoaDdpI¢

Question ID : 81616113436
Status : Answered
Chosen Option : 2
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Q.19 fmft fafdry ¥ 'INHALE' @1 'REEDIH’ % w4 ¥ foram sirar 81 &Y St yrar &
‘MIGHTY’ BT $ forar srem?

Ans X 1.MCLICP
5 2. CCILMP
«” 3. MILCCP
5 4. IMCLCP

Question ID : 81616113319
Status : Not Answered
Chosen Option : --

Q.20 wgmwmaﬁﬁmﬁm%mﬁ%qwﬁﬁﬁu%jﬁﬁqu—wafwai
ARl

ua#haﬁwfm—sr
Ans X 1.ggl: omdfufes
X 2. TR ; B
2 3. TPIAoRe ; AT
o 4. TSImTEAIaIoRe : Ut

Question ID : 81616113419
Status : Answered
Chosen Option : 1

Q.21 There are two couples in a family. Komali has two children. Madhurima is the wife of
Omprakash, who is the brother of Mani. Pinki is the daughter of Komali. Urmila is the
sister of Sanju, who is the son of Omprakash. Tarun is the son of Mani, who is a male.

How is Madhurima is related to Komali?
Ans X 1. Aunt

o 2. Sister-in-law
/< 3. Sister
5 4. Mother

Question ID : 81616113423
Status : Answered
Chosen Option : 2

Q.22 1 IR ¥ fou U & Rd A i Bt T & ve a0 § ok 399 A ue A @139
ST Xeg BT TG B |
Ans X 1. 9
X 2. WHdf
3. S

X 4. adredan

Question ID : 81616112306
Status : Answered
Chosen Option : 3
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Q.23 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follows from the
statements.

Statements:

All lockets are chains.
100% medals are lockets.
Some rings are chains.

Conclusions:
I. All chains are medals.
1l. All medals being rings is a possibility.

Ans X 1. Neither conclusion I nor Il follows
% 2. Both conclusions | and Il follow
«” 3. Only conclusion Il follows

#5 4. Only conclusion | follows

Question ID : 81616113323
Status : Answered
Chosen Option : 3

Q.24 %?ﬁwﬁﬁmwwﬁwwﬁm%MWﬁ%mmﬁ
I

1. Hypodermic
2. Hypocrite
3. Hysterical
4. Hypothermia
5. Hypotenuse

Ans X 1.4,3,51,2
X 2.3,51,2,4
& 3.2,1,543
X 4.1,2,3,4,5

Question ID : 81616112405
Status : Answered
Chosen Option : 3

Q.25 g Y fawedl § & 95 o g W Pl seer & vule (2) & ®E R s
121, 169, 225, 289, ?
Ans X 1.398
o 2.361
< 3.305
X 4.410

Question ID : 81616112415
Status : Answered
Chosen Option : 2

Section : General Awareness
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Q.1 gﬂﬂﬁzomwmamm%mmmmﬁmammﬁa%mu
?

Ans X1 G
X 2. oR1d
X 3. dfierrg
4. TERTY

Question ID : 81616112440
Status : Answered
Chosen Option : 4

Q2 fE A fFE ®T R WIaH g5 3 IR 7 I TR (U1 TUH IJuS far ur?
Ans 1 IRAY

X 2. IR

X 3. g
X 4. YT

Question ID : 81616113353
Status : Answered
Chosen Option : 1

Q.3 FHS ¥ 1Y Wi Scred SATeEl RO AaTHd gaH axgell & dta Tg B aEwn
B Pt wae | Rifa few s q@war g1

Ans X 1. HHid IuAITCT o
X 2. e @
3. IATG YHTGT I
X 4.9 dh

Question ID : 81616112331
Status : Answered
Chosen Option : 1

Q4 . IeruTarERt A By A 3 T ¥ THe @R S 9@ e ure
Ans X 1 HERIY

X 2. o

3. g

K 4. ToRId

Question ID : 81616113453
Status : Answered
Chosen Option : 1
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Q.5 T 2020 H, fFH HRAT IsT A R-TYPHS AT B AHUTH 3R iz & fore 59 af &1
qqqsmﬁ?ﬂawuoﬁ (‘UNIATF’) BT IR Siidr?

Ans X 1. TORId
2. 9xd
2 3. Mar

X 4 aftrerrg

Question ID : 81616112445
Status : Marked For Review
Chosen Option : 2

Q.6 A Py fiber 31 939 srpTat @y # SRy WR e Joft & fRw WRa it
3fireiYe ufafy & = & Tafra fear mar @2

Ans X 1.U&% gURME! AlC
2. Siideg
X 3.3 39 fis
X 4. e Ryarar

Question ID : 81616112451
Status : Answered
Chosen Option : 4

Q.7 ARt 2021 B fRIfA & IR, fay a=eiia HIv & YRdg gafazor Rign sdea & ais
TS B A?
Ans X 1. faRTe diga
7 2. TATY. 4t
X 3. & fiyert
4. T3 3e

Question ID : 81616113456
Status : Marked For Review
Chosen Option : 3

Q.8 =73 B TaTgdIoH, Teh-dier-gsgiRieIeTsie HUI, Uewh? ST AR 1 RfFaeng miva
I
Ans X 1. TEHM
X 2. HfeT
3. DIRBEHA
X 4. DI R

Question ID : 81616112434
Status : Answered
Chosen Option : 1
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Q.9 fIwh Tea-d P ugel 3N sifaw Afgen wftrer 1= A2
Ans X1§F¢[HT€ITEW

X 2.l

3. o1 geaH

X 4. T grifadt

Question ID : 81616113350
Status : Answered
Chosen Option : 3

Q.10 ygraelt B, WeaehTel= Uf3W S (1541 T 1741 2rdred)) & &Y =T # R et
P Hefifa sear 21

Ans X 1. 9Ifdd
2. fawg
< 3. SRl
X 4. Ra

Question ID : 81616112329
Status : Marked For Review
Chosen Option : 2

Q1 ST TS raTad BT F=e TSy H 4TI
Ans X 1. 3¥HC

X 2.9

X 3.9

& 4.0

Question ID : 81616112341
Status : Answered
Chosen Option : 1

Q.12 P H | for 35T & TUUTA B P 3R STRIT 9YT IWA WdTd 3P 1t & fHga
¥ dey # WRYH F 3¢ 371H P ded AT R € 27

Ans X 1. fiSiRe
X 2. NdS
X 3. fafawa
& 4. IBUTTA T

Question ID : 81616112346
Status : Answered
Chosen Option : 2
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Q.13 g & | B9 $fea= iftrar o (1PL) & JuTe SR ugd sreder SiR HisR A2
Ans ,/1.?11%’1?[14}133[

X 2. Gdlu uifed

7< 3. SAHIgA SratHan

X 4.9 Rig R

Question ID : 81616112449
Status : Answered
Chosen Option : 1

Q.14 313 3t.&.emg. (URdY e e 9%) o1 gy e ¥ @ fHa e § fRa 82
Ans X 1. gfmn

X 2. Uiy s

X 3. Plcd

o 4. HERIY

Question ID : 81616113441
Status : Answered
Chosen Option : 4

Q.15 THT 3TN T YR gia Tohdr uivug & sreaed g o A o9 82
Ans 7 1 OYEHA!

X 2. 3uyufa

X 3.wgafa

X 4. AETATEATS!

Question ID : 81616113458
Status : Answered
Chosen Option : 1

Q.16 & § fe sradt 2021 # 10,000 m dts # W “3fsR-20° Repis 31 drs
Ans X1,:|§1rr§qﬁ

X 2.30gd fie

X 3. WA AR

o 4. 3ifa @

Question ID : 81616113359
Status : Answered
Chosen Option : 3

Q.17 Ui & AFe Jwm B seremEar gl
Ans X 1. gl

2. STt

2< 3. T

X 4. It

Question ID : 81616113345
Status : Answered
Chosen Option : 2
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Q.18 3fagar 2020 ¥, YR WYx 9l 1 g, T.5. 9. (UNEP), qumaaﬁ
(UNWTO), TG £ 5. (FEE) 3R €. g, 3T, (IUCN) S TReTTd Wewa! arelt Saersia ot

BRI ‘s FRT YHIUH & JwATa far i
Ans 1.8
X 24
X 3.10
X 46

Question ID : 81616112453
Status : Marked For Review
Chosen Option : 4

Q.19 g A | for Trsg &1 af 2019-2020 & T UeTE 3R IR-gdf Isul & S AcguTaH &
A FIAY 3T B & I g IRPR GIRT TR fohaT 14T 1?2

Ans 7 1. 3[TH
X 2. Rifgew
< 3. i

X 4. fga

Question ID : 81616113449
Status : Marked For Review
Chosen Option : 4

Q.20 g & | B9 W A} ToRT I5T H 3RT AWR B Ha Bt WY (GUTT B @) § AR 32
Ans X' 1. U]

o 2. AT

X 3. Temast

X 4. B

Question ID : 81616112337
Status : Answered
Chosen Option : 2

Q.21 [ G U HeTd (wingspan) araT fa=maaw I vef fa A ¥ s ar e

Ans X 1.9&
X 2. 3%
o 3. ST S
X 4. fpieas

Question ID : 81616113447
Status : Answered
Chosen Option : 2
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Q.22 wIad 2021 ® A A | for w0 § YRA & Ugd S Ut &1 Iguted fhar mar 32
Ans X 1. 3fifs=m

X 2. Pl

3.9

X 4. fgw &

Question ID : 81616113462
Status : Answered
Chosen Option : 2

Q.23 What is the boiling point at standard atmospheric pressure at sea-level and 45°
latitude of water on the Celsius scale?

Ans X 1.50°C
X 2.200°C
« 3.100°C
X 4.150°C

Question ID : 81616112334
Status : Answered
Chosen Option : 3

Q.24 In which of the following states is the ‘Eco Retreat’ festival held every year?
Ans X 1.Assam

#5 2. Tamil Nadu
«” 3. Odisha
5 4. Bihar

Question ID : 81616113338
Status : Answered
Chosen Option : 3

Q.25 & & fora @fer & snferzrarsh & &v1 31 S a1 82
Ans X 1. ST

2. 9|

25 3. disr

X 4. Tifsay

Question ID : 81616113342
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude
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Q1 gfr g+ b2 +c2+216=12(a+b—20)2 , @ Vab—bc —ca & AT AT FI|
Ans x 1. 3'\’!3

X2 44/5

X3 845

v 4 615

Question ID : 81616113375
Status : Answered
Chosen Option : 2

Q.2

(x—y+2)?2—(x—y—2)? & AF AT FL

Ans X1 2xz + 2yz
X2 4xz+4yz
&3 4xz—4yz
X4 dyz—4xz

Question ID : 81616112465
Status : Answered
Chosen Option : 3

R (2a+ :- 1) = [ H‘r(4a2+ ai) FT AT AT FT|
ans 1132
X2 110
X3 121
X4 148

Question ID : 81616112366
Status : Answered
Chosen Option : 1

Q4 g NEFFFA AT E 27% s i Fmmm R T T Ry F @ w
ofr 6.68% =T WM B, T x T AT AT R

Ans X1 15
v 16
X3 125
&4 20

Question ID : 81616113366
Status : Answered
Chosen Option : 1
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S e St T B ST

Ix8-90f6—2+-3x(5—2)Xx2+18+-30f3
Ans X1- ZE
13

X2 22
3

3. —:[E
)

X4 —4

Question ID : 81616112455
Status : Answered
Chosen Option : 3

Q.6 et 3o & aquifer 1 a9we Tm2 @1 R R # A (m #) AT

Ans 2
1. -
3

3
X2 =
2

1
<3 =
3

1
X4 =
2

Question ID : 81616113474
Status : Answered
Chosen Option : 1

Q.7 AABC #, 35T AB X &g D 58 5% & % BD = 3 cm 3T DA = 4 cm ¥1 BC ¥ g E 5@ o &
5 DE | AC ¥I ABDE & &% : FHae Ig8sf ACED &1 8190 & A 7+

Ans X116 : 33
X2 33:16
39 :40
X440 :9

Question ID : 81616113481
Status : Answered
Chosen Option : 3
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Q.8 Weight of A is 20% more than weight of B, whose weight is 30% more than weight of C. By how much percent weight
of A is more than weight of C?

Ans X' 1. 50
& 2. 56
X 3. 3580
X4 44

Question ID : 81616112357
Status : Answered
Chosen Option : 2

Q9  fusr ABC v waag fiegsr &1 AB 3t AC w7 Faer: fig D 3t E ¥ v#1 fuw § f% DE, BC &

FAWS § 3 DE # @& BC # amdfr &) af AD + CE + BC = 30 cm &, & =Igeisr BCED &1
IRANT (cm #) AT =

Ans 1 45
X2 25
v3. 375
X 4. 35

Question ID : 81616112470
Status : Answered
Chosen Option : 3

Q10 TreAifrg S #1 3HeTaT &t #R 30% 9% BT T TF # 5ea &|
aifee & By 71T e ai druEt § =90 Bea-fEe Rwdt # seane S 9 orEt fr 5ear #r

e F

FE | wen |Reme | | deme
EEC)

A 36 |48 59 57

B 45 |54 55 48

c 55 |36 56 51

D 45 |48 55 53

E 48 44 52 55

Frust A it C #F feme Feum Ree @ semes S 9§ o A g, gt B s D #
ST ST NI F{e aTer OIS T HEAT 7 fhaer Siaera 87

Ans X1 83.3
%2108
<3200
v 4120

Question ID : 81616112781
Status : Answered
Chosen Option : 4
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Q1M Ry=ifem arfer & weaas w7 #X 35F 718 By 7T 997 # 3007 &
aifere 50 =afdaat #r & s o B

A (3) aferaat f1 w=ar

200 |12

250 ¥ |26

00T HA |34

BoTHa |40

400FHa |20

3200 ¥ @A HA Tl eOTHaar T &A1 F, T300 A1 IAG HF FAW @ et Fr gwar ¥
T A FL

Ans X1.3:10
X26:5
v33:4
X46:17

Question ID : 81616112779
Status : Answered
Chosen Option : 1

Q12 9 =rffes grweT s @ g W, F% WPET ofir 3 a¥ F 781,840 3T 5 =¥ & 792,400 7 I ¥
TfE TS & (x+2)% F S E, o Breer oW 7 3F iy T Fr aeEh g e

Ans 1. g
X 2.3
2

X3 20
v+ 10

Question ID : 81616112360
Status : Answered
Chosen Option : 4

Q13 tan35°cot 40°tan45°cot 50°tan55° FT T AT FII

Ans & 1.

x 2.

< 3.

S gle =

X< 4.

|
—t

Question ID : 81616112877
Status : Answered
Chosen Option : 1

19 of 30 9/2/2021, 7:17 PM



Firefox

20 of 30

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

QM K & 37 A9 719 FT B T=ar 72k460k, 6 ¥ s @ S

Ans x4 7
X2 8
g3 4
x4 9

Question ID : 81616112353
Status : Answered
Chosen Option : 3

Q15 40 km & gl a7 FA F A, B W 2 h #fiF o1 g1 3PN A A A FSEET T ¢, ar 80 km
T Fe # T B F 1] h A0 AT §1 B F I AT F 120 km F gf 7T T F Fraen ww

(h #) oEEm?
X112
4

Ans

1

K 2.k
3

2

X3 1-
3

S
2

Question ID : 81616113372
Status : Answered
Chosen Option : 3

Q.16 A 3 B = ®1$ IFg 25% @1 9T =N B F C @ T &G 15% 0 W AL B F A, A F A F

40 w7 ¥ A % Tw a5 g &1 7 750 @ #) 79 )

Ans X 1. 546
< 2. 400
X 3240
v 4 640

Question ID : 81616112459
Status : Answered

Chosen Option : 2

Q17 ofg sec (5 a—15°) = cosec(15°— 2a) &, &F cosa + sin2a + tan (1.5 @) & A 75 FLI

Ans v 3+1
X2-1f§—1
X3 42-1
X4 42+1

Question ID : 81616113383
Status : Answered
Chosen Option : 1
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Q18 fazr s &5 ant@ wiw TEE A, B, C, D 3R E # qost s Afgenat £ gwwm @ g §)
faftra wws=1 & qew o afgar sew @t @en
325 'TW = wfgen

100 |
50 4
o+

form e & qel 1 FEa, AR A veet F Afgonsdt @ stew v & 99 T sgee 87
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Question ID : 81616113384
Status : Answered
Chosen Option : 3

Q.19 T sin(20+ x) °= cos 60°,0 < (20+x) <90 ?.', o 2sin?(3x + 15)° — cosec?(2x + 10)° &7 AT AT FYI

Ans 5 1, 3

x2 1

3
X3 -2
vi =3

Question ID : 81616112371
Status : Answered
Chosen Option : 4
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v mogd
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Ans w114 : 23

X223 : 41
X323 : 14
x4 41:23

Question ID : 81616113386
Status : Answered
Chosen Option : 1

Q.21 %z 0 3 13 om ewr awel g9 &, =19 AB @r AT §1 A 3 B 9T @i o T @, P oY e
" Sfo=efea s § & 2APB=60° ¥ 3fE %% O & AB & gff 5 cm &, & AP Fr &g (cm #)
AT

Ans x4 19
X212
X3 22
v 24

Question ID : 81616112368
Status : Answered
Chosen Option : 2

Q.22 =gz =fam, el & &1 18 R & @ w2 = 1 5 R #10 F91 F 916, 6 Aol Y oy & E
mm#ﬂﬁﬁﬁﬂmmaﬁmﬁlmaﬂﬁﬁ?ﬁﬁwpﬂ

Ans X 1 19
X2 21
X3 24
v 27

Question ID : 81616112361
Status : Answered
Chosen Option : 3
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Q23 FrammitABF a5 : 88 A5 A AR TRE 5w &, AT 2: 3 &
ST §1 A R B F I A H

Ans X 1 19
v2 15
X310
X420

Question ID : 81616113369
Status : Answered
Chosen Option : 2

Q.24 iy ge7 &, @ AB i CD, E o W= 7= §1 off CD = 16 cm, DE = 6 cm, AE =
12 cm 3R BE = x cm &, 9 x =7 &= 719 F4I

Ans X1 g
X217
X3 9
v 4 5

Question ID : 81616113478
Status : Answered
Chosen Option : 4

Q.25 o FEE R g TEmat F o9 # e 233 31 TEE 9 ge i gew ol g A
st 71 F

Ans X111
x2 17
X313
v4 15

Question ID : 81616113466
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

Ranbir could not went / to the award ceremony / as he was busy / shooting / for a film /
in Maldives.

Ans X 1.forafim
#5 2. as he was busy
/5 3. to the award ceremony

«” 4. Ranbir could not went

Question ID : 81616112379
Status : Answered
Chosen Option : 4
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Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The apple a day keeps the doctor away.
Ans X 1.The apples a day
5 2. A apple a day
«” 3. An apple a day
5 4. No substitution

Question ID : 81616112382
Status : Answered
Chosen Option : 3

Q.3 Select the option that expresses the given sentence in indirect speech.
The professor said to the media persons, “From our research we have come to the
conclusion that there is life on that planet.”

Ans X 1. The professor said to the media persons from our research you had come to the
conclusion that there was life on that planet.
o 2. The professor said to the media persons that from their research they had come to
the conclusion that there was life on that planet.
£ 3. The professor told to the media persons that from your research you have come to
the conclusion that there is life on that planet.

#5 4. The professor informed the media persons that from our research we have come to
the conclusion that there had been life on that planet.

Question ID : 81616113492
Status : Answered
Chosen Option : 2

Q.4 Select the INCORRECTLY spelt word.
Ans X 1.Cadre

#5 2. Carnivorous
«” 3. Calender
£ 4. Commit

Question ID : 81616112501
Status : Answered
Chosen Option : 3
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Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. According to his hypothesis, now known as the neuron theory, each nerve cell
communicates with others through contiguity rather than continuity.

B. The watershed of all studies of the nervous system was an observation made in
1889 by Spanish scientist Santiago Ramoén y Cajal.

C. It has since been proved that Cajal’s theory is not universally true, but his central
idea has remained an accurate guiding principle for all further study.

D. That is, communication between adjacent but separate cells must take place across
the space and barriers separating them.

Ans X 1.CDAB
< 2.BCDA
« 3.BADC
X 4. ADCB

Question ID : 81616113401
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.

My neighbour was admitted to the hospital when he developed an allergic to
some medicine he took.

Ans o 1.reaction
5 2. retort
2 3. result
5 4. rejoinder

Question ID : 81616113514
Status : Answered
Chosen Option : 1

Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Dad: “Yes, tell me.”

B. Laxmi: “Dad, | need to speak to you.”

C. Dad: “I think you are still too young for it.”
D. Laxmi: “Please buy me a scooter.”

Ans X 1.BCDA
2. BADC
X 3.ABDC
7 4. DCBA

Question ID : 81616112491
Status : Answered
Chosen Option : 2
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Q.8 Select the most appropriate synonym of the given word.
Tag (n)
Ans 7 1. Label
#5 2. Drain
#5 3. Syphon
< 4. Pump
Question ID : 81616113503
Status : Answered
Chosen Option : 1
Q.9 Select the most appropriate ANTONYM of the given word.
Anxiety
Ans X 1.Nervousness
& 2. Panic
/< 3. Restlessness
«” 4. Certainty
Question ID : 81616112495
Status : Answered
Chosen Option : 4
Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.
After the old building was pulled out, the building contractor surveyed the progress
of the work.
Ans X 1. No substitution
5 2. was pulled up
/5 3. was pulled over
«” 4. was pulled down
Question ID : 81616113494
Status : Answered
Chosen Option : 4
Q.11 Select the most appropriate synonym of the given word.
Detrimental
Ans X 1. Intellectual
#5 2. Friendly
< 3. Smart
«” 4. Harmful
Question ID : 81616113504
Status : Answered
Chosen Option : 4

9/2/2021, 7:17 PM



Firefox

27 of 30

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

Ans

Q.12 Select the most appropriate ANTONYM of the given word.

Blemish

5 1. Damage

#5 2. Discolouration
«” 3. Perfection

#< 4. Stain

Question ID : 81616113405
Status : Answered
Chosen Option : 3

Ans

Q.13 Select the most appropriate option to fill in the blank.

Credit card has increased in recent years.

o 1. fraud
X 2. fluke
X 3. flake
& 4. freed

Question ID : 81616112402
Status : Answered
Chosen Option : 1

Q.14

Ans

Select the option that can be used as a one-word substitute for the given group of
words.

An arrangement of flowers that is usually given as a present.
/< 1. Boutique

" 2. Bouquet
#< 3. Bracket
< 4. Basket

Question ID : 81616112398
Status : Answered
Chosen Option : 2

Q.15

Ans

Select the option that expresses the given sentence in passive voice.
You can solve this problem.

«” 1. This problem can be solved by you.

< 2. This problem ought to be solved by you.

#< 3. This problem should be solved by you.

< 4. This problem might be solved by you.

Question ID : 81616112380
Status : Answered
Chosen Option : 1
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Q.16 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If there is no error, select
‘No error’.

Modern science have / broken many myths / about our food and diet.
Ans & 1. Modern science have

5 2. about our food and diet
5 3. No error
5 4. broken many myths

Question ID : 81616113388
Status : Marked For Review
Chosen Option : 1

Q.17 Select the most appropriate meaning of the given idiom.

A bad egg
Ans X 1. Someone who doesn't like eggs

< 2. Someone who regularly makes mistakes
«” 3. Someone who is dishonest and unreliable

5 4. Someone who likes to break eggs

Question ID : 81616113406
Status : Answered
Chosen Option : 3

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

One who does not believe in the existence of God.
Ans X 1. Anarchist

5 2. Egotist
o 3. Atheist
& 4. Cynic

Question ID : 81616112399
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate meaning of the given idiom.

Tide someone over

Ans X 1. Ask someone for financial assistance
/5 2. Complete a voyage successfully
«” 3. Give temporary help, usually financial

5 4. Get a boat ready to cross a river or water body

Question ID : 81616113407
Status : Marked For Review
Chosen Option : 3

28 of 30 9/2/2021, 7:17 PM



Firefox

29 of 30

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

Q.20 Select the INCORRECTLY spelt word.

Ans

2 1. Colossal
5 2. Articulate
«” 3. Concensus
5 4. Magnificent

Question ID : 81616112502
Status : Answered
Chosen Option : 1

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the
five (5) senses, a kind of supernatural sense.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.

o 1. are
X 2. of
X 3.is
X 4.in

Question ID : 81616112486
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the
five (5) senses, a kind of supernatural sense.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans

25 1. sadness
/< 2. happiness
o 3. smell

X 4. anger

Question ID : 81616112487
Status : Answered
Chosen Option : 3
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Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the
five (5) senses, a kind of supernatural sense.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
o 1. referred

< 2. reminded
< 3. required
X 4. retained

Question ID : 81616112488
Status : Answered
Chosen Option : 1

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the
five (5) senses, a kind of supernatural sense.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.

o 1. 0f
X 2.in
& 3.0n
X 4. at

Question ID : 81616112489
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

The five senses (1) sight, hearing, taste, touch and (2) . What is sometimes
(3) to as a ‘sixth sense’ is a power to be aware (4) things independently of the
five (5) senses, a kind of supernatural sense.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

25 1. geological
5 2. botanical

«” 3. physical

/< 4. geographical

Question ID : 81616112490
Status : Answered
Chosen Option : 3
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